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QUESTION 1

An administrator has removed a node from the cluster. After system maintenance, the administrator notices that the
remaining cluster nodes will no longer form a cluster.

Which file will be used by the cluster at startup to determine the number of nodes required to form a cluster?
A. letc/gabtab

B. /etc/littab

C. letc/vxfentab

D. /etc/llithosts

Correct Answer: A

QUESTION 2
An administrator is notified that a service group faulted due to a disk group failure.

Which two Veritas Cluster Server logs can the administrator review to determine the reason for the failure? (Choose
two.)

A. Mount_A.log

B. DiskGroup_A.log

C. CVMVxconfigd_A.log
D. HostMonitor_A.log
E. engine_A.log

Correct Answer: BE

QUESTION 3

A cluster configured with disk based 1/0 fencing has two dedicated high-priority LLT links and one low-priority link over
public network interface.

What is the state of the cluster if both high-priority links fail simultaneously?

A. All nodes remain in regular GAB membership, but are also in jeopardy membership.
B. The cluster is in a split-brain condition until at least one other LLT link is working.

C. The cluster with active service groups stays running, but the other shuts down.

D. Service groups are unable to failover when resource faults occur, but can failover if a system fault occurs.
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Correct Answer: B

QUESTION 4

Which log can an administrator review to determine why a resource failed to come online?
A. Ivar/VRTSvcs/log/vbs_state_notify.log

B. lvar/VRTSvcs/log/ProcessOnOnly_A.log

C. lvar/VRTSvcs/log/HostMonitor_A.log

D. /lvar/VRTSvcs/log/engine_A.log

Correct Answer: D

QUESTION 5

The Oracle database administrator needs to shut down the Veritas Cluster Server (VCS) controlled database to apply
patches. The manual shutdown of the database may cause VCS to fail over the service group.

Which command can the administrator run to prevent VCS from responding to the intentional Oracle database
shutdown?

A. hagrp -flush

B. hagrp -freeze

C. hatype -freeze Oracle
D. hares -ignoreparent

Correct Answer: D
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